
D E  /  E N  /  E S P  /  F R  /  I T

ENTDECKELUNGSSET

UNCAPPING SET

BASIC &  PLUS 



P LU S

B A S I C

P LU S mm System

10 x 28,3 Dadant US (Adam)

10 x 25,3 Dadant Blatt (Europe)

10 x 22,3
Zander Τ1 2 & Τ2 3

Langstroth

10 x 19,3 Dadant US (Rieß)

P LU S

B A S I C



Abtropfwanne = Deckel
Perforierte Wachsfangwanne
Hauptwanne
Rähmchenhalter
Werkzeughalter
2x Ablagebügel
4x Schrauben M6
4x niedrige Muttern M6
4x Flügelmuttern M6
Bedienungsanleitung

Entdeckelungsset PLUS:
Schwenkhalteelemente (1x schwarz, 1x weiß)
Erweiterung für hohe Rähmchen
Entdeckelungsmesser 
Entdeckelungsgabel

PACKUNGSINHALT

AUFBAUHINWEISE

Tipp: 
Schlüsselweite in Ablagebügel 

Rechtshänder: Abtropfwanne 1 links der Hauptwannne 3 (s. Darstellungen), 
Linkshänder: Abtropfwanne 1 rechts abstellen. 
Grundaufbau:

1. Schrauben von unten durch die vier Bohrungen der Hauptwanne 3 stecken.
2. Mit Muttern von oben befestigen.
3. Wachsfangwanne 2 aufsetzen.

1
2

3
4

5
4

5

6

7

1

2

3

4x niedrige Mutter

4x Schraube

3

8

DE



ENTDECKELN PER GABEL
Rähmchenhalter 4 mit dem Schenkel nach OBEN (gelber Pfeil) auf die 
Seite der Abtropfwanne 1 mit dem Rechen nach außen montieren. 
Werkzeughalter 5 gegenüberliegend montieren (Schenkel nach OBEN). 
4 x Flügelmuttern einschrauben & handfest anziehen. 
Ablagebügel 6 in die vorgesehenen Schlitze einstecken.

6
6

4 5

WERKZEUGABLAGE

Messer wie dargestellt mit 
Spitze in Aussparung einhängen.

VORSICHT vor Hitzeentwicklung am
Blech bei Einsatz eines Heizmessers.

Breite Gabeln in breiten Schlitz, schmale
Gabeln in schmalen Schlitz, sonstige in 

Zwischenstege einstecken.   

4x Flügelmutter

DE



Erweiterung f. hohe Rähmchen 8 oberhalb Rähmchenhalter 4 montieren. 
Feineinstellung (gerade Seiten oder Hoffmann-Seiten) mittels Langlöcher. 
Beide Flügelmuttern anziehen.

ENTDECKELN PER MESSER
Rähmchenhalter 4 mit Schenkel nach UNTEN (gelber Pfeil) auf die Seite 
der Abtropfwanne mit Rechen nach außen montieren.
Werkzeughalter 5 gegenüberliegend (Schenkelrichtung egal) montieren
Flügelmuttern einschrauben und handfest anziehen. 

Entdeckelungsset PLUS: Passendes Schwenkhalteelement 7 wählen und 
von oben in die mittige Öffnung am Rähmchenhalter 4 stecken und 
verdrehen. Rähmchen in das Schwenkhalteelement 7 einstecken.
Alternative Verwendung des Rähmchenhalter 4: Niedrige Rähmchen auf 
die Auflagespitze aufsetzen, höhere Rähmchen in die beiden Öffnungen.
Messer zum Entdeckeln bevorzugt von oben nach unten führen. 

4

5

7

HOHE RÄHMCHEN

8

4

DE



SICHERHEITSHINWEISE
Kontrollieren Sie Ihr neues Produkt auf übermäßig scharfe Kanten an den 
Blechkanten. Fehlstellen können i. d. R eigenständig z.B. mithilfe von Schleifpapier 
behoben werden, im Zweifel kontaktieren Sie den Support. 
Verletzungsgefahr durch Messer & Gabel: nicht in Hände von Kinder!
Entdeckelungswerkzeuge immer vom Anwender weg hantieren und nicht zu sich 
hin. Achten Sie darauf, keine anderen Personen zu gefährden.
Achten Sie auf einen stabilen, rutschfesten Untergrund. 
Bei Verwendung der Schwenkhaltelemente oder Einstecköffnungen: Vergewissern 
Sie sich, dass der verlagerte Schwerpunkt nicht zum Umkippen führt. 
Achten Sie darauf, das Rähmchen in einem Schwenkhalteelement nicht 
loszulassen, wenn es sich an genau einer dieser beiden Stellungen befindet, 
welche zum Einsetzen bzw. Entnehmen vorgesehen sind. 
Falls Sie das Entdeckelungsset mit einem Heizmesser kombinieren, beachten Sie 
die Wärmeabgabe auf den Werkzeughalter und die daraus resultierende 
Verbrennungsgefahr im Umfeld des Kontaktbereichs.   

Entdeckelungsset vor und nach jedem Einsatz gründlich reinigen. Ggfs. spezifische 
Anforderungen Ihres Landes oder Vertriebsverbundes (z. B. DIB-Glas) beachten.
Entdeckelungsset zum Reinigen immer komplett demontieren. 
Zunächst Wachs bestmöglich entnehmen. Anschließend mit warmen Wasser und 
geeigneten Bürsten bzw. Schwämmen (Edelstahleignung) gründlich reinigen. 
Ausschließlich für die Imkerei zugelassene Reinigungsmittel verwenden.
Achten Sie bei Verwendung einer (Industrie-)Spülmaschine darauf, dass sich keine 
stehenden Wassertaschen bilden sondern alles gut abfließen kann. Kleinteile 
(Schrauben, Muttern) gesichert beilegen (Reinigungssäckchen / Korb). Wachsreste 
können u. U. der Spülmaschine zusetzen. 

REINIGUNG

ENTSORGUNG
Verpackung über entsprechende Recyclingangebote entsorgen (Kartonagen etc.)
Produkt nach aktuellen gesetzl. Vorgaben entsorgen (Metallverwertung). 

VERSTAUEN 1

3 2

Deckel 1 aufsetzen & Flügelmuttern anziehen.

DE



Drip tray = lid
Perforated wax pan
Main pan
Frame holder
Tool holder
2x Hanger
4x Bolt M6
4x Low type nutM6
4x Wing nut M6
User manual

Supplementary with uncapping set PLUS:
Swivel-hold-units (1x black, 1x white)
Extension for large frames
Uncapping knife
Uncapping fork

CONTENT

ASSEMBLY INSTRUCTIONS

Hint: 
Use wrench size of hanger

Right-handers: drip tray 1 preferably to the left of the main tray 3 (see
picture). Left-handers preferably to the right of main tray 3. 
Basic structure: 

1. Insert the screws from below through the four holes in the main pan 3. 
2. Screw in nuts from above, tighten with wrench size.
3. Put the wax pan 2 on top.

1
2

3
4

5
4

5

6

7

1

2

3

4x low type nut

4x bolt

3

8

EN



UNCAPPING WITH A FORK
Frame holder 4 to be mounted with the angle leg pointing upwards

(yellow arrow) next to the drip tray 1 with the rake facing outwards.
Repeat the same with the tool holder 5 on the other side (angle leg up). 
Screw in wing nuts and tighten hand-tight. 
Hanger 6 to be inserted to the slots provided

6
6

4 5

TOOL HOLDER

Place uncapping knife as
shown.

ATTENTION: using elictric knife
causes heat transfer to metal parts.

Place wide uncapping forks into wide
slot, narrow ones into narrow slot. Use two

4x wing nut

dividers in the center for intermediate sizes.

EN



UNCAPPING WITH A KNIFE
Frame holder 4 to be mounted with the angle leg pointing downwards

(yellow arrow) on the side of the drip tray with the rake facing outwards.
Repeat the same with the tool holder 5 on the opposite side (leg either up
or down). 
Screw in wing nuts and tighten hand-tight

Use spike in the center to place frames or use one of the openings / 
square holes. See Pictures on the envelope.
Uncapping set PLUS: select the appropriate swivel-hold-unit 7, insert it 
from above into the center hole at the frame holder 4 and turn it. 
Frames can now be plugged into and rotated to the desired orientation. 
For uncapping it’s recommended to move the knife from top to bottom.

4

5

7

Position drip tray extension for large frames 8 as shown in image. 
Fine adjustment (straigth or „Hoffmann-frames“) via long holes. 
Tighten both wing nuts.

EXTENSION FOR LARGE FRAMES

8

4

EN



SAFETY INSTRUCTIONS
Check your new product for sharp edges on the sheet metal. Defects can usually 
be remedied by the user, e.g. using sandpaper. If in doubt, contact support. 
Product, especially knife & fork, not to be given to children, risk of injury. 
Always handle uncapping tools away from the user and not towards yourself. Be 
careful not to endanger other people. 
Make sure a stable, non-slip surface is used as basis. 
When using the swivel-hold-unit 7 or openings on the frame holder 4, make sure 
that the shifted center of gravity cannot lead to the entire set tipping over. 
Make sure not to leaf a frame unholded by hand in the swivel-hold-unit 7 when it 
is in exactly one of the two positions, which are intended for insertion or removal. 
If you combine the uncapping set with a heating knife, be aware of the heat 
dissipation on the tool holder and risk of burns near the the contact area. 

Thoroughly dismantle & clean the uncapping set prior and after each use. Respect 
specific regulations and legal requirements of your country or sales network. 
After manually removing wax as best as possible clean thoroughly with warm or 
hot water using suitable brushes or sponges (suitable for stainless steel). Use only 
cleaning agents approved for beekeeping.
When using an (industrial) dishwasher, make sure that water pockets are avoided 
and that water can drain easily away. Enclose small parts (screws, nuts) securely in 
a cleaning bag or basket. Wax residues can impair dishwashers. 

CLEANING

DISPOSAL
Dispose packaging through appropriate recycling supplies in your country 
(cardboard boxes etc.).
Product disposal: check for regulations in your country. All part stainless steel plus 
plastic parts on handles of knife & fork and swivel-hold-units.

1

3 2

Place lid 1 on top of pans 2 & 3 and tighten wing
nuts.

STOW AWAY

EN



Bandeja de goteo = tapa
Bandeja perforada para cera
Bandeja principal
Soporte para marcos
Soporte para herramientas
2x colgadores
4x tornillos M6
4x tuercas bajas tipo M6
4x tuercas de mariposa M6
Manual de instrucciones

Complementos del IMKER24 Uncapping Set PLUS:
Unidades de soporte giratorio (1x negro, 1x blanco)
Extensión para marcos altos
Cuchillo para desopercular
Horquilla para desopercular

CONTENIDO

INSTRUCCIONES DE MONTAJE

Consejo: 
Utilice la medida de la llave del colgador

Diestros: bandeja de goteo 1 a la izquierda de la bandeja principal 3 
(ver imagen), zurdos: bandeja de goteo a la derecha.
Estructura básica:

1. Inserte los tornillos desde abajo en la bandeja principal 3.
2. Coloque las tuercas desde arriba y ajuste.
3. Coloque la bandeja de cera 2 encima.

1
2

3
4

5
4

5

6

7

1

2

3

4x tuerca baja

4x tornillo

3

8

ESP



DESOPERCULADO CON HORQUILLA
Monte el soporte para marcos 4 con la pata en ángulo hacia arriba

(flecha amarilla) junto a la bandeja de goteo 1, con el peine hacia afuera. 
Monte el soporte para herramientas 5 en el lado opuesto (pata en ángulo 
hacia arriba).
Atornille las 4 tuercas de mariposa y apriete a mano.
Inserte el colgador 6 en las ranuras correspondientes.

6
6

4 5

SOPORTE PARA HERRAMIENTAS

Coloque el cuchillo para 
desopercular como se 
muestra.

ATENCIÓN:  el uso de un cuchillo 
eléctrico transfiere calor a las piezas 
metálicas

Coloque horquillas anchas en ranuras 
anchas y estrechas en ranuras estrechas. 
Use los dos divisores centrales para tamaños 
intermedios.   

4x tuerca de 
mariposa

ESP



Monte la extensión para marcos altos 8 encima del soporte para marcos 4.
Ajuste fino (marcos rectos o tipo „Hoffmann”) mediante las ranuras
alargadas.
Apriete ambas tuercas de mariposa.

DESOPERCULADO CON CUCHILLO
Monte el soporte para marcos 4 con la pata en ángulo hacia abajo (flecha 
amarilla) al lado de la bandeja de goteo, con el peine hacia afuera.
Monte el soporte para herramientas 5 en el lado opuesto (pata en 
cualquier dirección)
Atornille las tuercas de mariposa y apriete a mano.

Con el Uncapping Set PLUS: elija la unidad de soporte giratorio 7 
adecuada e insértela en el orificio central del soporte para marcos 4 y 
gírela. Inserte el marco en la unidad de soporte giratorio 7 y ajústelo a la 
posición deseada.
Alternative Verwendung des Rähmchenhalter 4: Niedrige Rähmchen auf 
die Auflagespitze aufsetzen, höhere Rähmchen in die beiden Öffnungen.
Para desopercular, mueva el cuchillo de arriba hacia abajo. 

4

5

7

MARCOS ALTOS (PLUS)

8

4

ESP



INSTRUCCIONES DE SEGURIDAD
Revise su producto por bordes afilados en las piezas de metal. Las imperfecciones 
se pueden eliminar con lija; si tiene dudas, contacte con el soporte.
Riesgo de lesiones con cuchillo y horquilla: manténgalos fuera del alcance de los 
niños.
Siempre maneje las herramientas para desopercular alejándolas de usted y evite 
riesgos para terceros.
Asegure una base estable y antideslizante.
Al usar las unidades de soporte giratorio 7 o los orificios del soporte para marcos 
4, verifique que el centro de gravedad desplazado no haga volcar el equipo.
No suelte el marco en la unidad de soporte giratorio 7 en las posiciones previstas 
para insertar o retirar.
Si usa un cuchillo calefactor, tenga en cuenta la transmisión de calor en el soporte 
de herramientas y el riesgo de quemaduras en la zona de contacto.

Desmonte y limpie bien el Uncapping Set antes y después de cada uso. Cumpla 
con las normativas específicas de su país o red de ventas.
Retire la cera y limpie bien con agua caliente y cepillos o esponjas adecuados para 
acero inoxidable. Use solo agentes de limpieza aprobados para apicultura.
Si usa un lavavajillas industrial, asegúrese de que no queden acumulaciones de 
agua y coloque piezas pequeñas (tornillos, tuercas) en una bolsa o cesta. Los 
residuos de cera pueden obstruir el lavavajillas.

LIMPIEZA

ELIMINACIÓN
Deseche el embalaje a través de los canales de reciclaje (cartón, etc.).
Para desechar el producto, siga las normativas locales para acero inoxidable y 
piezas de plástico.

ALMACENAMIENTO 1

3 2

Coloque la tapa 1 sobre las bandejas 2 y 3 y 
apriete las tuercas de mariposa.

ESP



Bac d'égouttage = couvercle
Bac perforé pour la cire
Bac principal
Support de cadre
Support pour outils
2x crochets
4x vis M6
4x écrous bas M6
4x écrous papillon M6
Mode d'emploi

Supplément avec Uncapping Set PLUS :
Supports pivotants (1x noir, 1x blanc)
Extension pour cadres hauts
Couteau à désoperculer
Fourchette à désoperculer

CONTENU

INSTRUCTIONS DE MONTAGE

Conseil : 
Utiliser la taille de clé du crochet

Pour droitier : placer le bac d'égouttage 1 à gauche du bac principal 3 
(voir schéma). Pour gaucher : placer à droite du bac principal 3.
Structure de base :

1. Insérer les vis par-dessous dans les quatre trous du bac principal 3.
2. Visser les écrous par-dessus et serrer.
3. Placer le bac à cire 2 par-dessus.

1
2

3
4

5
4

5

6

7

1

2

3

4x écrou bas

4x vis

3

8

FR



DÉSOPERCULATION AVEC UNE FOURCHETTE
Monter le support de cadre 4 avec le bras en angle vers le haut (flèche 
jaune) à côté du bac d'égouttage 1, avec le peigne vers l'extérieur.
Monter le support pour outils 5 de l'autre côté (bras en angle vers le 

haut).
Visser et serrer les 4 écrous papillon à la main.
Insérer le crochet 6 dans les fentes prévues.

6
6

4 5

SUPPORT POUR OUTILS

Accrocher le couteau à 
désoperculer comme 
illustré.

ATTENTION : l’utilisation d’un 
couteau chauffant transfère de la 
chaleur aux parties métalliques.

Insérer les fourchettes larges dans les fentes 
larges, les fourchettes étroites dans les fentes 
étroites. Utiliser les deux séparateurs centraux 
pour les tailles intermédiaires.

4x écrou
papillon

FR



Monter l’extension pour cadres hauts 8 au-dessus du support de cadre 4.
Ajustement fin (cadres droits ou « cadres Hoffmann ») via les fentes 
allongées.
Serrer les deux écrous papillon.

DÉSOPERCULATION AVEC UN COUTEAU
Monter le support de cadre 4 avec le bras en angle vers le bas (flèche 
jaune) du côté du bac d'égouttage, avec le peigne vers l'extérieur.
Monter le support pour outils 5 de l'autre côté (orientation du bras 
indifférente).
Visser les écrous papillon et serrer à la main.

Avec l’Uncapping Set PLUS : choisir le support pivotant approprié 7 et 
l'insérer par le haut dans le trou central du support de cadre 4, puis le 
tourner.
Insérer le cadre dans le support pivotant 7 et l’orienter selon les besoins.
Pour désoperculer, faire glisser le couteau de haut en bas.

4

5

7

CADRES HAUTS (PLUS)

8

4

FR



CONSIGNES DE SÉCURITÉ
Vérifiez votre produit pour détecter les arêtes coupantes sur les pièces 
métalliques. Les défauts peuvent généralement être éliminés avec du papier de 
verre; en cas de doute, contactez le support.
Risque de blessure avec le couteau et la fourchette : ne les laissez pas à la portée 
des enfants.
Manipulez toujours les outils de désoperculation en les orientant à l'opposé de 
vous-même et faites attention à la sécurité des autres.
Assurez-vous que le produit repose sur une surface stable et antidérapante.
Lors de l’utilisation des supports pivotants 7 ou des ouvertures sur le support de 
cadre 4, vérifiez que le centre de gravité décalé ne risque pas de faire basculer 
l'ensemble.
Ne laissez pas un cadre sans maintien manuel dans le support pivotant 7 lorsqu'il 
est dans l'une des deux positions prévues pour l'insertion ou le retrait.
Si vous combinez l’Uncapping Set avec un couteau chauffant, soyez conscient de 
la transmission de chaleur au support d’outils et du risque de brûlures dans la 
zone de contact.

Démontez et nettoyez soigneusement l’Uncapping Set avant et après chaque 
utilisation. Respectez les réglementations spécifiques de votre pays ou réseau de 
distribution.
Retirez le plus de cire possible, puis nettoyez avec de l’eau chaude et des brosses 
ou éponges adaptées à l’acier inoxydable. Utilisez uniquement des agents de 
nettoyage approuvés pour l’apiculture.
Pour un lave-vaisselle industriel, évitez les poches d'eau stagnante et placez les 
petites pièces (vis, écrous) dans un sac ou un panier de nettoyage. Les résidus de 
cire peuvent obstruer le lave-vaisselle.

NETTOYAGE

ÉLIMINATION
Jetez l’emballage dans les filières de recyclage appropriées (carton, etc.).
Éliminez le produit selon les réglementations locales (recyclage des métaux).

RANGEMENT 1

3 2

Placez le couvercle 1 sur les bacs 2 et 3 et 
serrez les écrous papillon.

FR



Vassoio di scolo = coperchio
Vassoio perforato per cera
Vassoio principale
Supporto per telaini
Supporto per utensili
2x ganci
4x viti M6
4x dadi bassi M6
4x dadi ad alette M6
Manuale d’uso

Incluso con Uncapping Set PLUS:
Supporti girevoli (1x nero, 1x bianco)
Estensione per telaini alti
Coltello per disopercolare
Forchetta per disopercolare

CONTENUTO

ISTRUZIONI DI MONTAGGIO

Consiglio:
Usare la chiave dei ganci

Per destrimani: posizionare il vassoio di scolo 1 a sinistra del vassoio 
principale 3 (vedi figura). Per mancini: posizionarlo a destra del vassoio 
principale 3.
Struttura di base:

1. Inserire le viti dal basso nei quattro fori del vassoio principale 3.
2. Avvitare i dadi dall’alto e stringere.
3. Posizionare sopra il vassoio per la cera 2.

1
2

3
4

5
4

5

6

7

1

2

3

IT

4x dadi bassi

4x viti

3

8



DISOPERCOLATURA CON FORCHETTA
Montare il supporto per telaini 4 con il braccio angolato verso l’alto 
(freccia gialla) vicino al vassoio di scolo 1, con il pettine rivolto verso 
l’esterno.
Montare il supporto per utensili 5 sul lato opposto (braccio angolato 

verso l’alto).
Avvitare i dadi ad alette e stringere a mano.
Inserire i ganci 6 nelle fessure previste.

6
6

4 5

SUPPORTO PER UTENSILI

Appendere il coltello 
per disopercolare 
come illustrato.

ATTENZIONE: l’uso del coltello 
riscaldante trasferisce calore alle 
parti metalliche.

Inserire le forchette larghe negli slot larghi, 
quelle strette negli slot stretti. Usare i due 
divisori centrali per le misure intermedie.

4x dadi ad 
alette

IT



Montare l'estensione per telaini alti 8 sopra il supporto per telaini 4.
Regolazione fine (telaini diritti o « telaini Hoffmann ») tramite le fessure 
allungate.
Stringere entrambi i dadi ad alette.

DISOPERCOLATURA CON COLTELLO
Montare il supporto per telaini 4 con il braccio angolato verso il basso 

(freccia gialla) sul lato del vassoio di scolo, con il pettine rivolto verso 
l’esterno.
Montare il supporto per utensili 5 sul lato opposto (orientamento del 
braccio indifferente).
Avvitare i dadi ad alette e stringere a mano.

Con l'Uncapping Set PLUS: scegliere il supporto girevole 7 appropriato e 
inserirlo dall'alto nel foro centrale del supporto per telaini 4, quindi 
ruotarlo.
Inserire il telaini nel supporto girevole 7 e orientarlo come desiderato.
Per disopercolare, si consiglia di muovere il coltello dall’alto verso il basso.

4

5

7

TELAINI ALTI (PLUS)

8

4

IT



ISTRUZIONI DI SICUREZZA
Controllare il prodotto per rilevare eventuali spigoli vivi sulle parti metalliche. In 
genere, i difetti possono essere rimossi con carta abrasiva; in caso di dubbi, 
contattare il supporto.
Rischio di lesioni con coltello e forchetta: tenerli lontano dalla portata dei 
bambini.
Maneggiare sempre gli strumenti per disopercolare orientandoli lontano da sé e 
fare attenzione alla sicurezza degli altri.
Assicurarsi di posizionare il prodotto su una superficie stabile e antiscivolo.
Quando si utilizzano i supporti girevoli 7 o le aperture sul supporto per telaini 4, 
assicurarsi che il centro di gravità spostato non rischi di ribaltare l’intero set.
Non lasciare mai un telaini senza supporto nel supporto girevole 7 quando si trova 
in una delle due posizioni previste per l'inserimento o la rimozione.
Se si utilizza un coltello riscaldante con l’Uncapping Set, fare attenzione alla 
trasmissione di calore sul supporto per utensili e al rischio di ustioni vicino all’area 
di contatto.

Smontare e pulire accuratamente l’Uncapping Set prima e dopo ogni utilizzo. 
Rispettare le normative specifiche del proprio paese o della rete di distribuzione.
Rimuovere manualmente la cera il più possibile, quindi pulire con acqua calda e 
spazzole o spugne adatte per acciaio inossidabile. Usare solo detergenti approvati 
per l’apicoltura.
Quando si utilizza una lavastoviglie (industriale), evitare tasche d’acqua e 
posizionare le piccole parti (viti, dadi) in un sacchetto o cestino per la pulizia. I 
residui di cera possono ostruire la lavastoviglie.

PULIZIA

SMALTIMENTO
Smaltire l’imballaggio attraverso i canali di riciclaggio appropriati (cartoni, ecc.).
Smaltire il prodotto in base alle normative locali (riciclaggio dei metalli).

RIPORRE 1

3 2

Posizionare il coperchio 1 sui vassoi 2 e 3 e 
stringere i dadi ad alette.

IT



HERSTELLER / PRODUCER / 
FABRICANT(E) / PRODUTTORE

IMKER24 - Einzelunternehmer S. Kaffl-Marketing
Frühlingstraße 8
D-83607 Holzkirchen

imker24.shop / imker24.de
mail@imker24.de MADE IN GERMANY

Declaration number: 1048573

1. Unique identifier: 1860-00-BASIC & 1860-00-PLUS

2. Name of economic operator: IMKER24 – Einzelunternehmer S. Kaffl-

Marketing

Frühlingstraße 8

83607 Holzkirchen

Germany

3. Description of the goods: uncapping set

4. Declaration and information on the lawfulness of the marketing of goods or that type of goods

4.1 

The goods of type of goods described above, including their 

characteristics, comply with the following rules applicable in 

Member State(s):

DE

 LFGB §30 and §31 - Food contact materials FCM

7.2

Information on the goods or that type of goods made available to 

the end users in the Member State indicated in point 4.1, including 

details of the date of when the goods were first made available in 

the market in that Member State.

DE, 2021-04-09

MUTUAL RECOGNITION DECLARATION - MRD
For the purpose of Article 4 of Regulation (EU) 2019/515

ENG: Table shows an extract of key data. Original signed document is part of the DoC of the producer. 
Note: EU-regulation “MRD” guarantees that any good lawfully sold in one EU country can be sold in another.
ESP: La tabla muestra un extracto de los datos clave. El documento original firmado forma parte de la 
declaración de conformidad del fabricante.
Nota: La normativa de la UE « MRD » garantiza que cualquier producto legalmente vendido en un país de la 
UE puede ser vendido en otro.
FR: Le tableau présente un extrait des données clés. Le document original signé fait partie de la déclaration de 
conformité du fabricant.
Remarque : La réglementation européenne « MRD » garantit que tout produit légalement vendu dans un pays 
de l'UE peut être vendu dans un autre.
IT: La tabella mostra un estratto dei dati chiave. Il documento originale firmato fa parte della dichiarazione di 
conformità del produttore.
Nota: La normativa UE « MRD » garantisce che qualsiasi prodotto legalmente venduto in un paese dell'UE 
possa essere venduto in un altro.

SUPPORT / ASSISTANCE / ASSISTENZA
mail@imker24.de

Print 2024-04



visit https://imker24.shop

MANUAL AVAILABLE IN MORE LANGUAGES 
+ VIDEOS & KNOW HOW:


	Folie 1
	Folie 2
	Folie 3
	Folie 4
	Folie 5
	Folie 6
	Folie 7
	Folie 8
	Folie 9
	Folie 10
	Folie 11
	Folie 12
	Folie 13
	Folie 14
	Folie 15
	Folie 16
	Folie 17
	Folie 18
	Folie 19
	Folie 20
	Folie 21
	Folie 22
	Folie 23
	Folie 24

